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ENGR 12 Assignment 6 SOLUTIONS

Partl. Drills -- 1 point each

1) For the following circuit: What type of Op-Amp circuit is it? ‘ k | utf '}'U\a then, find V1 and V2
100

kvl -1+203+V =0

g VWA Vo=V =0 i
~ Y f——3‘7 F 0 -V V"""-""'
=/ -0 = * [
20 +30 /oo VI:/" = ==
Va< =8 caV.
9 —
2) For the following circuit: What type of Op-Amp circuit is it? Noa-luv then, find Vo
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3) For the following circuit: What type of Op-Amp circuit is it? 30 mante ) then, find Vo
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4) For the following circuit: What type of Op-Amp circuit is it? c¢_ then, findiLin micro-Amperes
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5) Repeat #1 using non-ideal op-amp model. Take A = 100000, Ri = 500 kOhm, Ro = 75 Ohm [a CHALLENGE!!!]
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Part Il. Assisted Problem Solving — 2 pts each

6 Find Vc, i1, Rin (input Resistance seen by 9V
source), v2, i2
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7 Find Vo for the following 2 stage amplifier.
What is the total gain of the amplifier? (G =
vo/Vin)
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Part lll. Unassisted Problem Solving — 3 points each
8) Find vo for the following circuit: '2) AVvEe C ke Ve T 6 +vo
R R, =
Vo F B ,;'\/\Iﬁ AAA e =i & S VL)+ - ./o_o
v y R 1 'QI 1;_
1—,/\2‘\-- gl F 1»1 niga

\n‘,\' SAUN | ]1_"‘ S\J Vi~

—
—

vele Y20

- —
s -.'-""/2_
K- L

+

v, Vf_n Lt ("(_*v-g_)ﬁa{—k,(”('grleb
s (v "";03 ’

VZ)Q’Z- R, = R, Va

\/ﬂ ‘:(Vlet“l/l 101‘)

-‘-—-_'-‘——-——-

Unfiled Notes Page 3



